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10, ‘rre’ il cmtallr corest by ~e oflo? i by 0 In'6 and neb =4, pb = 21, what is the value
) e o) % R W) el p a6 | by ! g} B )9
L1 1 i no pood translatlon. l:.hr’ { Il W, I % I o even number, what is the difference between the
i) about by ul gl in d) NLJ' ale : ‘IFIlllllij'-I even number grater than (5x16) fnd the largest even
12, Which of the following Is o simple sentenee? " v auniher loss than (3x +9)? w oA .
) e in wenk but s o hord workor u? 9.4, n) 2 h) 2x-3 €) 7% 1§ d) 2x43 ot Lz ;
b) He {s weak and hard worker w7 11, i|'|.l.: Inrgel yeur -.:.I nehieving the *S1CE" is- : oD *_'.f.?
i w2030 b)2021 2025 d) 2041 e
¥ 12, Largest Beonomie zone of Bangladesh 15 located in-

¢) Inapite of belng weak, lie works hard
d) Though he i wenk, he works hard,

13, ' Bird's eye view' meniis-
n) see exhaustively ) eyes of birds
¢) i view of the sky o) o rough Iden

[4, Who will help you? The pagsive form is-
i) I3y whom will you be helped?

b) I3y wham would you be helped?
¢) By whom you would be helped?
d) By whom you will be helped?

15, Which sentence is correct?
u) This Is his speaking — b) Thiu is himsell speaking
¢) This Is him spenking d) This is he spenking

16, 1 have got o week (o finish this,
n) what b) which ¢) that

17, The quote “All the glitters is not gold™ is from w

Shukespeare?
w) Hamlel
¢) Othello

18. The nuthor of the boo
i) Salmun Rushdie b) Farah Ahmedi

¢) Khaled Hosseini d) Vikram Seih
9 1 comes @as no surprise that societies

i) who
hiel

b) The Merchant of Venice
d) Romeo and Juliet

behavior, thé churacter of the codes, on

often be
a) predictable b) d) e
20, If you had come earlier, you
i) hive b) has

20, Of the 50 researcher in

unexpected 2) ndmirnble
wotld
¢) hnd

i workgroup, 10% will be ns

o) wis

the researcher prefers feam A
the least possible number ol
asslgned 1o the team they prefer?
n) 15 h) 20 ¢) 25 d) ‘-1.1'

22, a b ¢ o and ¢ are live consecutive integers in

* researchers who wi

order of size, Whit

odd'?

Hathte b) abte  c)acke dyactd
B o iy

1) Chattogram b Dhaka ¢) Gajipur i) Khulna
13, Which country was the first to introduce old age pensions?
i) lnly by Sweden ¢) Germuny L!].f.in:::ce
14, Budminton is the national sport of -
i) Indin by Chinn  ¢) Malaysin
15, ‘Haldn Valley' is located in-
i) Khograchari  b) Rangamati  ¢) Bandorban
i, Who 15 the regulator for Micro-Finance institutions in

d) Thailand

d) Cox's Bazar

Bangladesh?

i juut about long enough

1 ploy of

K A Thousand Splendid Suny " 18-

have codes of
the other hand, can

xplicit

found o good seal

'|Ij.‘1;||.‘|| [

tenm A and the remuining 60% 1o tenm B, However ﬂ_!_'_:ii!..'_’l.
A and 30% prefer feam 13 What 18

ol he

Il

inereasing

h one of the following expression is not

2.4/
;ji

i) Bangladesh Bank  b) Financial Management Academy

¢) MRA (Microcredit Regulatory Authority)

d) BSC (Bangladesh Stock Exchange)

17, The first country to give voting rights to women is-

a) New Zealand — b) Canadn ) USA d) Jupan

18 What is the time duration of Bangabandhu Satellite-17

i) 5 years by 10 years  ©) 15 years d) 20 years

10, Which Bangladeshi is the co-founder of Youtube?

) Zin Haider Rahman  b) Amit Chakma

¢) Dipnnkar Talukder  d) Jawed Karim

40. Which of the following is called Blue Planet?

n) Earth by Jupiter ¢) Mirs dy Saturn

A1, An NPV profile for a single project

i) is generally upwird sloping by}

¢) displays Fisher's rate of intersection

d) displays the expected N PV for a project at
www.prebd.com

about NPV and IRR is

None of the above
a variety of

different discount rates
42, Which of the following statements

[nlse?

5 . . e
1) The discount rate that gives an NPV ol zero 1s the project’s IRR.

b) The IRR i5 the discount rate that equates the present value

ith the present value of outflows.
cts, if the NPV method and the

b
ankings, you should use the

of the cash inflows w

¢) For mutually exclusive proje
[RR method give conflicting ¥
NPV method assumes that cash flows will be
at the cost of capital while IRR rankings
wested at the IRR.

1l cash {lows arc reil

[RRs to select the project.,

I'he
reinvested
implicitly assume th

i)

|
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42, The grasent value of cash inflows js $60,000 nnd
o the cash outfiows is § 50,000 then NPV is7
L0000 80000 6 10100 dy 810010
43, A commprny gt prefes 1o raiss tote debt capltal rather than

il in order o
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&) s s tax exprimes ) all of the nbove
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divalopiing vauntrles
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A eienl nenel by uirrent Haksility
o) opernting oxpenae ) long torm Hability
60, Acoordlng 1o neorml vongept of necounting, fnanoial o
Buninens trnnanetion Is recorded
i) whan enndi e reeelved or prlil b) when ansaetion oecurs
AL whon profit s gomputed d) when balance sheet s prepared
10, Whit will b the Journnl entey for purchase oftice equipmont
for VK. 2HO0, on sucount’?
i) Lquipment 2800, Accounts ayable 2800
b eguiprognt 2800, Aceounts Recuivnble 2800
i) Accounts Fayable 2800, quipment 2800
d) Accounts Recelvable 2800, Equipment 2R00
71, What bs the full foem of 1PC7?
1) Tnternal Push OfTer b} Inteenal Pulbilic Ofter
o Inttinl Public Oftering— d) Initinl Pash Ofering
72, A project whose necoptance does not prevent or roquire the
accoptance of ong or moro altermative projects is referred to ns:
o) 0 mutuidly exclusive project b) an independent praject :
¢) 1 dependent praject d) 0 contingent project
79, The type of chegue which can be gnenshed only by depositing
i knowin i
a) benrer cheque  b) nceount payee cheque
o) order choque ) stale cheque
74, Which one of the followling s a government instiue of nsurmnee?
) Bangdndesh Jiban Bima Corporation
Iy Delin Life Insurnnee Company Limited
¢) Natlonal Life lnsurance Company Limited
d) Hustern Life Insurance Company 1 imited
76, Which one of the following accounts would usually have a
debit bulanee?
1) Account payable b)<¢
76, 1ind the present value of |
#0% dineount rates. N i\
) TK. 600,14 b) TK, 58314 ©) TK,614.00 d) TR 900
47 Who 18 known ns the father of Manngement?
W) W, Tlor b) Henry Fayol  ©) Elton Maye i
8. Which one of the following 14 (he example o technical skall?
) Forecust the futureevent ) Know Microsoft Excel
oal ) Manage evers {hing ontime.

| ;
is the example ol standing plant

) Policy d) Building leonie ‘!uw;:r
ociety can be formed

o) Bank loan
2 years al

s @) Owiner eeuity
K. 700 receivable alter

dy Henry Mitzberg

) Lend people townrds o g
19, Which one of the following
i) A project b) A program ¢

How many types of go-operative 8

i Act, 20017

qecording to the Co-operative Society v
n) 3 by 6 c) d) 3 .frlg
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33, 1 am not good......... translation.

#. about s, of o, 1n 9. al R
33, Which of the following is a simple sentence?

#. He 1s week but 1s a hard worker 4. He 1s weak and hard worker

o, In spite of being weak, he works hard. 9. Though he i1s weak, he works hard. &
yo, ‘Bird’s eye view" means- www.prebd.com

#. see exhaustively 4. eyes of birds

. a view of the sky 9. a rough idea 6. 9
58, “Who will help yvou.” The passive form is-

. By whom will you be helped? ¥, By whom would you be helped?

. By whom you would be helped? 9. By whom you will be helped? R
s¢. Which sentence is correct?

#. This is his speaking ¥, This is himself speaking

. This 1s him speaking ¥, This is he speaking 8. %
&, | have got a week to finish this, ...... is just about long enough.

=, what %. which *. that 9. who B o

seifire sl firres st o Py et TG o ga waye anufire S fone s )
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39,

o,

b,

*ﬂ L

3,

23,

EA=N

=8,

A,

s,

24.

.

Wy,

20,

The quote “All that glitters is not gold™ is from which play of Shakespeare?

«. Hamlet %. The Merchant of Venice

s, Othello 9. Romeo and Juliet LA |

The author of the book *A Thousand Splendid Suns™ is

#, Salman Rushdie . Farah Ahamedi , Khaled Hosseinmi 9. Vikram Seth L |

It comes as no surprise that societies have codes of behavior, the character of the codes,
on the other hand, can often be.........

@. prediciable 4. unexpected 5. admirable . explicit B
If you had come earlier, you would......found a good seat.
@. have 4. has if. had V. was LA

Of the 50 researcher in a work group 40% will be assigned to team A and the remaining

60% to team B, However 70% of the researcher prefers team A and 30% prefer team B,

What is the least possible number of researchers who will not be assigned to the team

they prefer?

w, 15% 4. 20% 1. 25% 9. 30% A

a, b, ¢, d and e are five consecutive integers in increasing order of size. Which one of the
following expression is not odd?

Ta+tb+c d.ab+c¢ f.ac+¢ w.ac+d B9

Sellling 12 pen at a price of Tk 10 vields a loss of a Selling 12 pen at a price of Tk 12

yields a profit of a%. What is the value of a?

;. 100 o AL
q. 100

The base of an isosceles triangle is 6 cm and one of the equal sides is 12 em. Find the

radius of the circle through the vertices of the triangle?

A jar contains milk and water in the ratio 5 : L. If the quantity of milk is more than that
of water by 8 liters, then what is the quantity of water? www.prebd.com

. 1.5 liter . 2 liter 1. 6 liter 9. 8 liter LA |

A sum of money amounts to TK 460 in 3 vears and to Tk 500 in five years. Find the rate

percent per amount-
# 5Tk %, 10 Tk. . 15 Tk. v 25Tk B9

Sum of three different positive integers is the some as their product. What is the smallest
of these 3 integers?

= 10 4. 11 €. s

€.

%0 9.1 %, <1 q. 2 € o
What is the rate of discount if a car that had a regular price of Tk. 30,00,000 is sold for
Tk. 27.90,0007

% 7% 4, 8% . 9% a9 10% T3

The average of a,b,cis 6 and a—b =4, ab =21, What is the value of ¢?

%6 Y. 7 . 8 7.9 .

If x is an even number, what is the difference between the smallest even number grater

than (5x + 6) and the largest even number less than (3x + 9)?
® 2x ¥ 2x-3 f. Tx+ 15 WiaNE3 R



b
0. The target year of achieving the *SDGs’ is-
%. 2030 ¥. 2021 . 2025 9. 2041
o3, Largest Economic zone of Bangladesh is located in-
@. Chattogram 4. Dhaka 1. Gazipur 9. Khulna
09, Which country was the first to introduce old age pensions?
#. Italy 4. Sweden . Germany 9. Greece
o8, Badminton is the national sport of-
%, India ¥, China sf. Malaysia 9, Thailand
¢, ‘Halda Valley’ is located in-
@. Khagrachar 4. Rangamati . Bandorban 9. Cox’s Bazar
oy, Who is the regulator for Micro-Finance institutions in Bangladesh?
@, Bangladesh Bank www.prebd.com 4. Financial Management Academy

09,

b,

o®.

8o,

WiHE Recent Job Solution

. MRA (Microcredit Regulatory Authority) 9. BSC (Bangladesh Stock Exchange)
The first country to give voting rights to women is-

¥, New Zealand ¥, Canada s, USA 9, Japan
What is the time duration of Bangabandhu Satellite-1?
@. 5 years 4. 10 years . 15 years 9. 20 years

Which Bangladeshi is the co-founder of Youtube?
@, Zia Halder Rahman 4. Amit Chakma si. Dipankar Talukder %, Jawed Karim
Which of the following is called Blue Planet?

@. Earth . Jupiter sf. Mars 9. Saturn
waf«B 8oft e @wfarer
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